Chapter 2 — Polynomial Functions

If P(x) = —4x*+5x-1, use synthetic substitution to find
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One root of 3x°-5x*-3x+2 = 0 is 2. Find the remaining roots. 232G
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Let P(x) = 8x> — 6x -1,
a.) Use synthetic division to find the quotient and remainder when P(x) is divided by x—.5
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b.) List all possible rational roots of the equation P(x) = 0
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c.) Is x—1 a factor of P(x)?
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Sketch &he graph of P(x) = —x(x+2)(x—1)z
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Let P(x) = x* + 2x* + x + 8x =12
a.) Find the quotient and remainder when P(x) is divided by x+2
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b.) Show that x-1 is a factor of P(x).
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c.) Find all the rational zeros. . :
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d)  Find P(i) . ‘ . /
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e.) Solve P(x) = 0 giving all i imaginary and real roots.

rational root but does have an irrational root. Then approximate
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Chapter 4 Functions
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1.) Give the domain of each function

a)  f)= z_xi_ b)  fx)=+x?-4
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2)  Letf(x) = x>+ 6x + 5. Find each of the following. WA =y Ad ’
a) () b)  g-1(x) c.) ( fog)®)
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3)  Letf(x)=2x*-x" 5 = W) AN M8 o ay A U2 v~ S
a.) Find the domain, range and zeros of the function. e .
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b.) Descnbe the graph of x = f(y). Does x = f(y) represent a function?
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4.) When a ball is thrown upward, itsapproximate height in meters t seconds later is given bZ \
h(t) = 36 + 24t — 5t*. Find the domain, range and zeros of h. Ve AN\ 0O el
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6.)  Describe the graph ofy2 4x* = 4. Then tell if the graph has symmetry in the (&) x-axis,, (b) y-axis,
(c) the line y=x, and/or (@e origin. \ ., )
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Name two angles, one posmve and one negative, that are coterminal w1th the given angle.
a.) 110° \\o-des> =- - b.) 23 2.3=27r = “3N
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Given sinx = 0.6 and cosx<0, find the value of the following without using a calculator.
a.) COSX = =% . =Y b.) tanx - -\ - -2 .
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Find the exact value of the expression. .
a)  sin270% —~\ b)  cos300° =
c.) sin-1(0.5) - d)  tan-l(=1) VST 3
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If angle A is obtuse and cosA = (~1/3), find sinA and tanA. 't \ N
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Solve 0°<x<360°, Give answers to the nearest tenth of a degree.
a.) 4tanx -1=0 b.) sinxcosx = sinx
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c.) (251nx-1)(3cosx—1) =0 d.) 2sin2x = 3(1-cosx)
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Give the amplitude and period of each function.
a.) y = 1.5sin2x b.) y = 2-3c0sTX
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Simplify \
a) cotx +tanx b.) (cos2x)/(1-sinx) VE0gat
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Find the area of AABC ifa=10,b=17 £C=100°. Cu.c 2 A S
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Two ships leave port at 2 PM. One travels due east at 20 knots and the other on a course of 200° at
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